
 -22* jkbQy@-303** jkbQy 

jsUt rkjxsVksa ij Qk;j djuk rFkk Ldksfjax 

-22 jkbQy 

iSzsfDVl jsUt rkjxsV Ldksfjax RDS ;ksx vad 

1- xzqfiax 20x
 1*x1* 1**=10 vad 2** ¾ 6vad 4 RDS 10 

2-vIyhds'ku   
ysVdj 

20x  1*x1* dqy&5] lsUVj&4] vkmVj&3 4 RDS 20 

3-Lusi'kwfVax [kM+s 
gksdj 

20x 1*x1* izfr xksyh 5 vad 2 RDS 10 

;ksx vad@ RD 10 40 
 

ikflax ekdZ                                        60%  24 vad 

 

-303** jkbQy 

uku Ldksfjax 
iSzsfDVl jsUt rkjxsV Ldksfjax RDS ;ksx vad 

1- xzqfiax 100 x 4* 
x 4* xzqfiax dksbZ Ldksfjax ugh 5 & 

2-vIyhds'ku 100 x 4* 
x 4* d-rk dksbZ Ldksfajx ugh 5 & 

3- Lusi'kwfVax 100 x 4* 
x 4*  dksbZ Ldksfajx ugh 5 & 

 
Ldksfjax Qk;j fnu 
iSzsfDVl jsUt rkjxsV Ldksfjax RDS ;ksx vad 

1- xzqfiax 100 x 4* 
x 4* xzqfiax xzqi&4**=20]8**¾12]12¾8 5 20 

2-vIyhds'ku 
ysVdj 

100 x 6* 
x 6* d-rk dqy&4]lsUVj 3]vkmVj 2vad 5 20 

3- vIyhd'sku 
[kM+s gksdj 

100 x 6* 
x 6* d-rk- dqy&4]lSUVj&3]vkmVj&2 vad 5 20 

4-vIyh0vkM+ls 200 x 6* 
x 6* rkjxsV dqy&4]lSUVj&3]vkmVj&2 vad 5 20 

5-Lusi'kwfVax 100 x 22** MkbZeh0 vad&4] izfr xksyh 5 20 

6-Lusi'kwfVax 
fufyax iksth'ku 

150 x 1*òRr-ykft-Lus-
'kfVax rkjxsV 

vad oR̀r vUnj&4 vad 
oR̀r ds ckgj&3 vad 

5 20 

7-ykbu iks0 150 x dzkflax rkjxsV  
1* òRr dk 
 

vad cqqy&4] ckgj&3 5 20 

8- jSfiM 200 x 6* 
x 6* rkjxsV vad&4] 3] 2 10 40 

;ksx vad@RDS       

                                ikl&60%¾ 108 

                                ekDlZ&80%¾ 144 

45 180 
 

fooj.k ,E;quh'ku 

1- Ldksfjax&15                              2- Ldksfjax& 45 RDS   @60 RDS 

 



-303 jkbQy jkf= Qk;j 

izSfDVl jsUt rkjxsV Ldksfjax RDS vad 
ukuLdksfjax -303** jkbQy jkf= Qk;fjax 

1- ykbu iks0 
Qk;jj ds nkfgus 
ykyVsu VkpZ ls 
Åij uhps jks'kuh 

75 x 4* 
x 4* dksbZ Ldksj ugh 5 & 

2-ysVdj iw.kZ 
vU/ksjs esa 

75 x 4* 
x 4* dksbZ Ldksj ugh 5 & 

;ksx vad@RDS 10 & 

Ldksfjax Qk;j 
 

1-Qk;jj iw.kZ 
vU/ksjs esa yk0iks 
VkpZ ls Åij 
uhps jks'kuh 

75 x 4* 
x 4* cqy&5] 

lsUVj&3 
vkmV&2 

5 25 

2- Qk;jj 
ykiks0 nkfgus 
ykyVsu VkpZ ls 
Åij uhps jks'kuh 

75 x ls
 

50 x 4* 
x 4* cqy&5  

lSUVj&3 
vkmV&2 

5 25 

75 x ls
 

350 x ls 2 RDS Qk;j ;ksx vad@ RDS 10 50 

iw.kkZd&50 vad          ikl& 25 vad 50%     ekDlZ& 35 vad 70% 

 

 
fooj.k ,E;quh'ku jkf= 

1- uku Ldksfjax&10 RDS 

2-  Ldksfjax&   10 RDS 

 ;ksx&      20 RDS 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



9 ,e,e dkckZbu@LVsuxu 

 

izSfDVl jsUt rkjxsV Ldksfjax RDS vad 
1-dU/ks ls f'kLr 
ysdj 

50 x Qhxj u0&2 vad izfr xksyh&3 5  15 

2- fcuk f'kLr 
cs0dzk0iks0 

15 x Qhxj u0&2 vad izfr xksyh&3 10 30 

3- fcuk f'kLr 
flaxy 'kkV 

15 x Qh0&2 vad izfr xksyh&3 10 30 

vad izfr xksyh&3 
 

5 15 4- oS0dzk0izk0 pydj 
3vkj0Mh0,l f'kLr ls 2 
vkj0Mh0,l0 ckn ds 
oS0dzk0izks0 lsa 

50
 x

 ls 40
 

x -
30

 x
-20

X
-

10
X rd 

Qh0&2 

;ksx vad@ RDS 30 90 

   iw.kkZd 90 vad 
ikl& 45 vad 

10 & 



7-62 ,l0,y0vkj0 

 

 
 

izSfDVl jsUt rkjxsV Ldksfjax RDS vad 
1-xqzfiax 100 x 4* 

x 4* xzqi 4*&20 

8 ¾12- 8 

5 20 

2- ,fIyds'ku 100 x  4] 3] 2 5 20 

3- LVsfMax ls 
,fIyds'ku 

100 x   5 20 

4- fufyx ls Lusi 
'kwfVax 

100 x  4 5 20 

;ksx  RDS@vad 

ikl 60%=48 vad 

20 80 
 


